

## **BOONE COUNTY, MISSOURI**

## Request for Bid #: 76-30NOV15 - Crushed Stone Aggregate and Chip Seal Products

## ADDENDUM # 1 - Issued November 20, 2015

This addendum is issued in accordance with the RFB Response Page in the Request for Bid and is hereby incorporated into and made a part of the Request for Bid Documents. Bidders are reminded that receipt of this addendum <u>should be acknowledged</u> and submitted with Bidder's *Response Form*.

Specifications for the above noted Request for Bid and the work covered thereby are herein modified as follows, and except as set forth herein, otherwise remain unchanged and in full force and effect.

1) The County received a request for current crushed stone aggregate and chip seal pricing. Attached is the current pricing.

Bv:

Jacob M. Garrett, Buyer
Boone County Purchasing

OFFEROR has examined **Addendum #1** to Request for Bid# 76-30NOV15 – Crushed Stone Aggregate and Chip Seal Products, receipt of which is hereby acknowledged:

Company Name:		m
Address:		
Phone Number:	Fax Number:	
E-mail:		
Authorized Representative Signature:	Date:	
Authorized Representative Printed Name:		

## 08-14FEB13 - Crushed Stone Aggregate and Chip Seal Products Term and

BOONE QUARRIES RENEWAL PRICING BOONE QUARRIES
2nd Renewal
1-1-15 - 12-31-15
3% Increase

4.7	tur e			Carrier State Company	PERSONAL PROPERTY OF THE PERSON NAMED IN COLUMN 1	
	DESCR IPTION	Unit of Measur e Tons APPRO XIMAT	UNIT PRICE PER TON	EXTENDED PRICE	2nd Renewal 1-1-15 - 12-31-15 UNIT PRICE PER TON 3% Increase	EXTENDED PRICE
4.7.1.	RSB	50,000	\$6.28	\$314,000.00	\$6.47	\$323,420.00
4.7.2.	SR1	75,000	\$6.69	\$501,750.00	\$6.89	\$516,802.50
4.7.3.	SR1.5	50,000	\$6.69	\$334,500.00	\$6.89	\$344,535.00
4.7.4.	SR2.5	25,000	\$6.40	\$160,000.00	\$6.59	\$164,800.00
4.7.5.	CR1	50,000	\$9.00	\$450,000.00	\$9.27	\$463,500.00
4.7.6.	CR1.5	1,000	\$8.90	\$8,900.00	\$9.17	\$9,167.00
4.7.7.	CR2	500	\$7.96	\$3,980.00	\$8.20	\$4,099.40
4.7.8.	CR3	1,500	\$7.96	\$11,940.00	\$8.20	\$12,298.20
4.7.9.	MS	3,500	\$5.00	\$17,500.00	\$5.15	\$18,025.00
4.7.10	QR	1,500	\$7.39	\$11,085.00	\$7.61	\$11,417.55
4.7.11	GQR	500	\$10.11	\$5,055.00	\$10.41	\$5,206.65
4.7.12	SP	500	\$10.11	\$5,055.00	\$10.41	\$5,206.65
4.7.13	WR	2,000	\$3.91	\$7,820.00	\$4.03	\$8,054.60
4.7.14	GQR6X	1,500	\$10.11	\$15,165.00	\$10.41	\$15,619.95
4.7.15	GQR6X 12	1,000	\$10.11	\$10,110.00	\$10.41	\$10,413.30
4.7.16		1,500	\$10.87	\$16,305.00	\$11.20	\$16,794.15
4.7.17	SC.5	6,000	\$10.87	\$65,220.00	\$11.20	\$67,176.60
4.7.18	SP=Spal	1000	\$10.11	\$10,110.00	\$10.41	\$10,413.30
4.7.19		1000	\$5.25	\$5,250.00	\$5.41	\$5,407.50
4.7.20	Pugged		\$0.50	\$500.00	\$0.52	\$515.00
	GRB	20000			\$0.00	\$0.00
- ET	1		TOTAL	\$1,954,245.00	TOTAL	\$2,012,872.35

BOONE QUARRIES RENEWAL PRICING  4.3. CHIP SEAL PRICING - FOB PLANT ONLY								1-1-	NE QU nd Ren -15 - 12 % Incr	2-31-15								
	1818000			4.8, CHI	P SEAL PRI	CING - FO	B PLANT ONLY	II)E			[#]							
		Unit of Measure Tons						2nd Renewal										
4.8.1.	APPROX IMATE QTY	UNIT PRICE PER TON					1-1-15 - 12-31- 15 UNIT PRICE PER TON 0% Increase	EXT	ENDED P	RICE								
	SC.375	1,200	\$10.87	-		2		\$11.20 \$13,435.32										
	SC.5	7,500	\$10.87	1				\$11.20		\$83,970.7	5							
			TOTAL					TOTAL		\$97,406.0	7							
E	NAME OF TAXABLE PARTY.			I.9. MAXIMU	M % INCREA	ASE FOR S	ECTIONS 4.7. AN	D 4.8.	OHŽNI	M/SALE	88III88							
	num % Inc Renewa	1					10.00%											
laxin	num % Inc Renewa						10.00%											
				4.10. DELI	VERY PRICI	ING			k. = .			4.10.	DELIVE	RY PRIC	ING			
		\$ P. C.											1-1-15	12-	31-15			
0000	15.500	0000								A	В	С	D	E	F	G	н	1
							5			<\$2.00	\$2.00 - <2.25	\$2.25 - <2,50	\$2.50 - <2,75	\$2.75 -	\$3.00- <3,25	\$3.25 - <3,50	\$3,50 - <3,75	\$3,75 <\$4,0
_					-	- 4				\$/Ten	S / Ton		\$/Ton	S / Ton	S / Ton	S / Ton	S / Ton	
										\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
										\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
										\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
										\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
										\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
										\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
Π										\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$11.00
			REASE FOR	SECTION 4.1	0,											miles	(B)	20000
ener	num % Inc val	rease 1st						10	3800									
faxir enev	num % Inc	rease 2nd						in	00%									
4.12.	Location Vendor P		East Cont-	3101 (5	neisse Paul C	disable 188	3.65303	100				W.	est Constr	1410 N. C	tedino- To	d C-1	mbis 3.00	1 65303
4.13.	Honor Pr	icing for	nast scale -	310I Creasy S	rings Road Co	common, Mil	3 03 2012					We	or acide -	2510 N. S	wanam Bi	va., Colu	шик, МС	65202
_	New Plat Cooperate	nts during tive	-						Y									
4.14.	Purchasir Provide r	ng? Y or material							Υ									
1.15.		mai Work							Y									

.

						13 - Crushed						-			
d	RENEWAL P	RICING				Limeston, Riggs			E00000	2.0			Limeston, Milier		
4.7 BAS	E BID PRICING	CRUSHED STONE		RIGGS QU	ARRY	RENEWA	L PRICING			180	MILLE	RSBURG QU	ARRY R	ENEWAL PR	ICING
	DESCRIPTION	Unit of Measure Tons APPSONIMATE OFY					2nd Renewal 1-1-15 - 12-31-15 UNIT PRICE PER TON 0% Increase	EXTENDED PRICE						2nd Renewal 1-1-15 - 12-31-15 UNIT PRICE PER TON 0% Increase	EXTENDED PRICE
4.7.1.	RSB	50,000					\$6.30	\$315,000.00						5.75	\$287,500.00
4.7.2.	SR1	75,000					\$7.30	\$547,500.00						6.70	\$502,500.00
4.7.3.	SR1.5	50,000					\$7.30	\$365,000.00						6.70	\$335,000.00
4.7.4.	SR2.5	25,000					\$7.30	\$182,500.00						6.70	\$167,500.00
4.7.5.	CR1	50,000					\$9.71	\$485,500.00						9.00	\$450,000.00
4.7.6.	CR1.5	1,000					\$8.93	\$8,930.00					50	8.40	\$8,400.00
4.7.7.	CR2	500					\$8.93	\$4,465.00						8.40	\$4,200.00
4.7.8.	CR3	1,500					\$8.93	\$13,395.00						8.40	\$12,600.00
4.7.9.	MS	3,500					\$9.45	\$33,075.00						9.00	\$31,500.00
4.7.10.	QR	1,500					\$6.77	\$10,155.00						6.45	\$9,675.00
4.7.11.	GQR	500					\$9.71	\$4,855.00						8.85	\$4,425.00
4.7.12.	SP	500					\$9.19	\$4,595.00						8.50	\$4,250.00
4.7.13.	WR	2,000					\$3.41	\$6,820.00						3.00	\$6,000.00
4.7.14.	GQR6X9	1,500					\$9.71	\$14,565.00						9.00	\$13,500.00
4.7.15.	GQR6X12	1,000					\$9.71	\$9,710.00						9.00	\$9,000.00
4.7.16.	SC.375	1,500					\$15.75	\$23,625.00						no bid	
4.7.17.	SC.5	6,000					\$13.65	\$81,900.00						no bid	
4.7.18.	SP=Spalls	1000					\$9.19	\$9,190.00						8.50	\$8,500.00
4.7.19.	Fill Material	1000					\$3.15	\$3,150.00						3.00	\$3,000.00
4.7.20.	Pugged Rock Per ton add on	1000					\$0.53	\$530.00						0.50	\$500.00
	GRB	20000					\$6.30	\$126,000.00						5.75	\$115,000.00
							TOTAL	\$2,250,460.00						TOTAL	\$1,973,050.00
							4.8. CHIP SEAL PR	HING - FOR PLANT ON	N						
4.8.1.	DESCRIPTION	APPROXIMATE QTY IN TONS	UNIT PRICE PROTON	8 EXTENDED PRICE	1st Renewal 1-1-14 - 12-31-14 UNIT PRICE PER TON 5% Increase	EXTENDED PRICE				UNIT PRICE PER TON	EXTENDED PRICE	ist Renewal 1-1-14 - 12-31-14 UNIT PRICE PER TON 6% Incresse	EXTENDED PRICE	1st Renewal 1-1-14 - 12-31-14 UNIT PRICE PER TON 0% Increase	EXTENDED PRICE
	SC,375	1,200	\$15.00	\$18,000.00	\$15.75	\$0.00				no bid	\$0.00	no bid	\$0.00	no bid	\$0.00
	SC.5	7,500	\$13.00	\$97,500.00	\$13.65	\$0.00				no bid	\$0.00	no bid	\$0.00	no bid	50,00
			TOTAL	\$115,500.00	TOTAL	\$0.00				TOTAL	\$0.00	TOTAL	\$0.00	TOTAL	\$0.00
49. MAX	IMUM % INCHEA	SE FOR SECTIONS 47	AND AR.	De-Halland	- constants	les possesson	George II	Section 1	100		TO THE RESIDENCE				200000000000000000000000000000000000000
Moisse	% Increase Lat Reserv	pg!	10%		000000000000000000000000000000000000000	Contract Contract	0011111110001002				100 0000		HITCH STREET,	-	

. .

						08-14FEE	B13 -	Crus	shed S	Stone Aggreg	ate and	Chip S	eal Prod	lucts ?	Term a	nd Supp	ly														
RENE	WAL PRICING				Mi	id-Missouri	i Lime	ston.	Riggs	Quarry							did-Misso	ouri Lime	eston, i	Millers	burg Quarry	,								100	100
44.0	Sel record feets		DELIV	TET PRI		OS QUARRY OR				BUSHING B	7	DELLIVER	PROCE BIG	CSQUAR	BY JET BES			Manager 1	1-1-	000000	1/ 01		DELIVER	PRICE RI	1-15 0% I	KY 2ND BE	NEWAL.			a by a	ALES
DELLYERY B	Schodule	A	-	c	D		F	- 6	10	1 1	Con Estica		N. III P. C.	14	12-31-14	3% INCREA		III PATE III	1000	A	н		A	8	C 0.00	D	E		6	11	1
			150			1184	^	5.00	7										983												
	Fart Price	<82.00	\$1,00 -	\$3.15 - <2.50	52.50 -	52.75 - <3.00	53.00-	53.25	\$3.50 - <3.75	53.75 - <4.00	100		-	1	-	1				~52.00	53.50 - < 3.75	53.75	<52.00	\$2.86 - <2.25	\$2.25 - <2.50	52.5b - <2.75	\$2,78 - <3.00	\$3.00. <3.25	\$3.28 - <3.50	\$3.50 - <3.75	88.
			<2.25	<2.50	<2./5		3.25	<3.30	3.75	- 1												<4.00		-6.60	4.50	-4.73	5.40	5.45	3.00	3.73	
	Distance (Miles)	S/Tee	S/ Tee	S/ Twe	Sr S	Tue	S/ Year	3/Ten	S/Ten	S/Tes										5/Ton	5 / Ton	5/Ton	S./ Ton	S/Ten	S/Ton	S/Ten	S/Ton	S:Tun	S/Tes	S/Ten	5/3
			1				1000							_	_	-		_		_											+
		\$2.42	\$2.42	\$2.42	\$2.42	\$2.42	\$2.55	\$2.68	\$2.81	\$2.94										\$2.54	\$0.00	\$0.00	\$2.54	\$2.54	\$2,54	\$2.54	\$2.54	\$2.68	\$2.81	\$2.95	
39.1.	b.<5	-	-	-					-	-			-	+	+	-		-		-			+								+
131.2	5-<10	\$3.12	\$3.12	\$3.12	\$3.12	\$3.12	\$3.25	\$3.38	\$3.51	\$3.64				- 1						\$3.28	\$0.00	\$0.00	\$3.28	\$3.28	\$3.28	\$3.28	\$3.28	\$3.41	\$3.55	\$3.69	1
1312	2-410	\$3.82	1	\$3.82		\$3.82		\$4.08	\$4.21	\$4.34										\$4.01	\$0.00	\$0.00	\$4.01	\$4.01	\$4.01	\$4.01	\$4.01	\$4.15	\$4.28	\$4.42	Τ,
438.7	1015	\$3.82	53.62	33.82	33.82	\$3.82	33.93	34.08	34.21	\$4.34					_					34.01	30.00	30.00	34.01	34.01	34.01	34.01	34.01	51.10	54.20	34.42	1
		\$4.52	\$4,52	\$4.52	\$4.52	\$4.52	\$4.65	\$4,75	\$4.91	\$5.04										\$4.75	\$0.00	\$0.00	\$4.75	\$4.75	\$4.75	\$4.75	\$4.75	\$4.88	\$4.99	\$5.16	1
4,16.4	15 -< 20	-	-		-		-		-					$\rightarrow$	-			100		-		-	+					_			+
222	0.50	\$5.22	\$5.22	\$5.22	\$5.22	\$5.22	\$5.35	\$5.48	\$5.61	\$5.74										\$5.48	\$0.00	\$0.00	\$5.48	\$5.48	\$5.48	\$5,48	\$5.48	\$5.62	\$5.75	\$5.89	1
6.10.5.	29 - = 25	\$5.92	1		\$5.92	\$5.92		ec.10	44.30	\$6.44									200	\$6.22	\$0.00	\$0.00	\$6.22	\$6.22	\$6.22	\$6.22	\$6.22	\$6.35	\$6.49	\$6.63	Τ,
410.6	25 : <36	\$5.92	\$5.92	\$5.92	\$3.92	\$5.92	\$6.05	\$6.18	\$6.31	\$6.44								- 5		30.22	\$0.00	50.00	30.22	30.22	30.22	30.22	30.22	30.33	30.47	30.03	L
		\$6.62	\$6.62	\$6.62	\$6.62	\$6.62	\$6.75	\$6.88	\$7.01	\$7.14										\$6.95	\$0.00	\$0.00	\$6.95	\$6.95	\$6.95	\$6.95	\$6,95	\$7.09	\$7.22	\$7.36	
4.10.7.	3925	00-00-00	-000	-00000			US SUIS	S	eneric		5000 0000			HEREN	UNIOSS	Name of Street				want		domestic C		5000000	000016	S. Tribita	200	12/2/2	2007	2000000	1535
		В	CLIVERY	PRICE	MILLER	SBURG QUARR	ry osac	INAL CI	ONTRAC	3										DEFIA	ERV PRICE MILL	ABBURG C	MANUAL DAL R	ENEWAL				\$-1-1	4 - 12:51-1	e me 200	ERKA
DELIVERY	Schedule	,A	9.	c	D	1.	F	G	11	27				T	T	T				A	(8	1	A	В	c	D		Ε.	G	н	
	Fast Price	<\$2.00	\$2.00 <2.25	\$2.35 <2.50	\$2.50 - <2.75	\$2.75 -<2.00	\$1.88 <3.25	\$3.15 <3.50	83.50 - <3.75	\$3.75 -<4.00				1	+					<\$2.00	\$3.58-<3.75	53.75	<\$2.04	\$2.00 . <2.25	\$2.25 · <2.50	\$2.80 - <2.75	<3.00	33.00- <3.25	\$3.25 - <3.50	53.50 - <3.75	
		5/Tun	5/	\$1	5) 1	5/Ton		4/7-	S/Tre	5/Ton				-	-	-		-		S/Ten	S/Ten	<4.00	5/Tee	S/Ton	S/Tos	S/Tee	5/Ton	5/Ton	S/Time	S/Ton	87
	Distance (Miles)	37.14	Tan	Ton	Ton		Tes	-													10000	32,000	10000	100	(Fig. 75-5)	21000	20,1370		0.550.00	21345	(5.0)
- 1		\$2.42	52.42	\$2.42	\$2.42	\$2,42	e2 55	\$2.68	\$2.81	\$2.94										\$2.42	\$2.81	\$2.94	\$2.42	\$2.42	\$2.42	\$2.42	\$2.42	\$2.55	\$2.68	\$2.81	
4.15.1	8-45	32.42	32.42	34.44	32.42	34.74	32.55	32.00	34.01					_	-	_	_	_				-	-	-					-		+
		\$3.12	\$3.12	\$3.12	\$3.12	\$3.12	\$3.25	\$3.38	\$3.51	\$3.64										\$3,12	\$3.51	\$3.64	\$3.12	\$3.12	\$3.12	\$3.12	\$3.12	\$3.25	\$3.38	\$3.51	
4.18.2	\$ <10	-	-	1			+		+					-		-							1	1		1					t
4.18.3	10 - =15	\$3.82	\$3.82	\$3.82	\$3.82	\$3.82	\$3.95	\$4.08	\$4.21	\$4.34										\$3.82	\$4.21	\$4.34	\$3.82	\$3.82	\$3.82	\$3,82	\$3.82	\$3.95	\$4.08	\$4.21	
		\$4.52	\$4.52	\$4.52	\$4.52	\$4.52	\$4.65	\$4.75	\$4.91	\$5.04										\$4.52	\$4.91	\$5.04	\$4.52	\$4,52	\$4.52	\$4.52	\$4.52	\$4.65	\$4.78	\$4.91	
4.10.4	15.<20	51.54	-	-	2	-		-	-	-	100	-							200		-		1						-		+
		\$5.22	\$5.22	\$5.22	\$5.22	\$5.22	\$5.35	\$5.48	\$5.61	\$5.74	800			- 1						\$5.22	\$5.61	\$5.74	\$5.22	\$5.22	\$5.22	\$5.22	\$5.22	\$5.35	\$5.48	\$5.61	
4103.	28 - < 25		-	+			+	+	+	-		1		-	-	+	-	_				++	+	+	_		-				+
	25 -< 30	\$5.92	\$5.92	\$5.92	\$5.92	\$5.92	\$6.05	\$6.18	\$6.31	\$6.44	200								8333	\$5.92	\$6.31	\$6.44	\$5.92	\$5.92	\$5.92	\$5.92	\$5.92	\$6.05	\$6.18	\$6.31	
4.10.6	2236	***			84.43	64.40	6		\$ \$7.01	8714									300	\$6.62	\$7.01	\$7.14	\$6.62	\$6.62	\$6.62	\$6.62	\$6.62	\$6.75	\$6.88	\$7.01	T
4.10.7.	38 - <35	\$6.62	\$6,62	2 \$6.62	\$6.62	\$6,62	\$6.75	\$6.88	\$7.01	\$7.14	352									30.02	37.01	37.14	30.02	30.02	\$0.02	30.02	90.02	20.73	20.00	37.01	
MAXIMUM	1% ENCREASE FOR SECTION as 1st Reports	4.00		-			-					11000	encomple		PARTY.	1000000				and the same	-								11000	1000	
deman % factors	ase 2nd Renewal	10%					10.2	шч		100000000	COLUMN				HOOF THE			1000		Paris St	HER PLOOSE IN	No.	DOCUMENT OF THE PARTY OF THE PA		200						
4.12 Locati	ion of Vendor Plant	RIGGES QUARRY	A MILL	ERSBLE	RE QUAR	CRY	100			0.00	200				STATE OF	HE-FILE		COLUMN TO		STORY OF	00 2000 0000						9000 B	THOUGH !	100		
4.14. Coope	Pricing for New Plants during Cont mains Purchasing? Y or N formsterial offer normal Work House	X168					101811		Section.	MARKET STREET	2000			275000	NO COLOR	1000		ne de la constante		127	No.					7010	0000000		000110-0		